Lo
SJUBAS NG9 < ‘0°'T € 19AIY [oeve 90eT:AIX ] yo'uleo'siojdow N — o
_________ _________ _________ _________ _________ _________ _________ M7 ________%____________ [T T T 1 _

IJets
200
(m_1+m_2)/2[GeV]

T

T

Jet Mass (anti-k_(0.7), 2500<p_<600, |y|<2.5)
100

I
CMS
--3-- Herwig 7.1.3 default

7OIOO GIeV Pp

|_________ _________ _________ _________ _________ _________ _________,________ WO T b fg g L 1 1 |

v % S " L Y % L f
—i o
SIS S 8 8 8 7

[Ae9/T] (2 w + T w)p/(opz ©/000T SIND 01 oney

0.5 -



	Contents
	Page 1


